1. Indiagram, ABCD is a rectangle, find the value of x and y.

gnfE, ABCD NI, KxSyziE

2. Indiagram, given BC = %BD and the area of AABC is 24cm?, find the area of AABD
§nPE, BAIBC =BD,=fAMAABC IEF Y% 24cm?, RAABD HIEFR

3. Indiagram, given that AP=4cm, AQ=3cm, QC= 5cm, PB =2cm,

E, BE%0 AP=4cm, AQ=3cm, QC=5cm, PB =2cm,
a. Show that AAPQ is similar to AACB
i BB = B AzAAPQ AB1LLF AACB
b. Find the length of PQ if CB = 5cm &
& CB=5cm, 3k PQEIKE

4. |In diagram, ABCE is a trapezium, find A Sem g
E, ABCE /462, 3K

a. Lengthof AD \
AD KR e \
b. Area of trapezium ABCE \

" > (4
¥ ABCE Y@

E 4cm D b o
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5. Indiagram, ABCD is a quadrilateral with diagonals perpendicular to each other. Find the area of ABCD

fnFE, ABCD AN ALIEEEEMIMAR, K ABCD AR

A

AN

4Cw am"b

B

Som

c

6. In diagram, ABCDEF is a regular hexagon. ABG and ACH are straight lines. Find the value of x+y
417, ABCDEF 24 IE/NiATE, ABG Ml ACH AE%Z, Kxty Z{E

7. Diagram shows a bamboo stick AB length 5m is placed against a wall. Determined whether AABC s a right-
angled triangle

NE, —HABK S KEREAK L, [GAABCREETER=ARL?

L)

5 R lom
W

B 3eme

8. Indiagram, PQR s a right-angled where <PQR =90°, PS=25cm, PQ=15cm and PS=12cm, find the length of
INE, POR H—HEMHE, BHI<PQR =90° PS=25cm, PQ=15cm #1 PS=12cm, K TFHKE
a. QS
b. PR

P
15 o 3Scm
9
G R (2em S
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9. Diagram shows a cuboid with AB=8cm, BC=15cm and GC=4cm, find the length of AC and EC
& — 37 /74 with AB=8cm, BC=15cm #1 GC=4cm,3K AC F1 EC 54

A g B
10. Infigure, QSR is a straight line. Calculate
WE, QSR 2—%EH%Z. tE

a. The length of PR

PR EICE o
b. The perimeter of triangle PQR

=AF PR BIAK e

Bom
& S bom 2

11. In figure, PQuis parallel to RS, find the value of x+y
WA, PQFATT RS, Kx+y BYE

12. Infigure, ABCD is a rectangle and CDE is a right-angle triangle. Given F is the midpoint of CE and CE=12cm,
find the area of the shaded region

ME, ABCD 2—KAf, CDEREFA=FR A#FECENTR, M CE=12em KA HEIR
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13. In figure, if <GFC =95°, <ACD=48", find the unknown angle w and lengths x, y
WNE, F<GFC=95°, <ACD=48°, kA w M x, y NEE

14. In figure, DE//BC, DE=10cm, BC= 16cm, area of AABC=64cm’
f1[&, DE//BC, DE=10cm, BC= 16cm, = ffiZE X AABC=64cm?®
a. Show that AADE ~AABC
W BA#E A= S X AADE ~AABC
b. Find the area of AADE

: ?E&ADE BEiR
d. Find the area of ABDE A
skABDE EYEFR
n /0d E
b (o o &

15. In arhombus ABCD, given that AC=11cm, BD=20cm, find the area of the rhombus ABCD
% ABCD, AC=11cm, BD=20cm, KZEHZ ABCD pymEFA

16. In figure, EF//GH, GK=4cm, KH=6cm, if area of AEGK =12cm?, find the area of parallelogram EFGH
{E, EF//GH, GK=4cm, KH=6cm, & EFR AEGK =12cm?, RFEFTPU A2 EFGH FEFR
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17. In figure, find the length of PR and AR
gnE, K PRAIARBIKE

18. The shortest side of a right-angled triangle is 6¢cm. If the difference between the other two sides is 2cm, find
the perimeter of the triangle

EHER=AEKRENKER 6ecom BEHRR MU ER 2om, K= ARNEK

19. In figure, ABCD is a square, PAB is an equilateral triangle, find <DPA
NE, ABCD @M IEAE, PAB @ NFiL=F/, KFE<DPA

[ [
il

/

20. In figure, PQRSTU is an irregular hexagon, find the value of x
A, PARSTU BMARE, KxzfE

21. Figure shows part of a regular polygon. PQR is a straight line. Find
Elf B REZAE, POREEL, K
a. Aninterior angle of the polygon
ESUBIA NI
b. The number of sides of the polygon

LT  1E
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£ 4 SETS
1) (a) It is given that the universal set § ={ x:20 x<35, x€ Z}

B4 & £={x:20 <x<35, xe 2}
Set A = {x: x is a multiple of 3}
£45 A= {xx 2 3 B
Set B = {x: x is a factor of 60}
%5 B=={x:x60 H§& ¥}

Set C = {x: x is a number whose sum of digits is less than 5}

RE C={x x REFZHINT 5 898}

(i) Use set notation, list the elements in Set A, Set B and Set C.
DSERERTEA A, B, CHETE

(i) Find (A N B")

K(ANBY

(iii) Find n(AU €)Y’

K n(AuC)

(b) A beverage company conducted a survey on 100 candidates, and found the following.
—ZPCRMA FL X 100 AfRiE AT T, KIMWT.

24 people prefer coca-cola only ,24 A H S XA] 0] Ik

14 people prefer tea only , 14 A H B0 4%

6 people prefer plain water only ,6 ANREIRAIK

12 people prefer coca-cola and plain water ,12 N E XK a] 18] A0 3K

18 people prefer tea and plain water , 18 A & X % I H FF 7K

30 people prefer coca-cola and tea ,30 A2 X% 7] [ a] [R AN

Only 8 people don't like all these three drinks , H £ 8 A AN B 00X = Fpick]

x people prefer all these three drinks ,x A X — F Uk} AR 2%

(i) Draw a Venn Diagram to show the above information
R EER LiAER

(ii) Find the value of x

% x WI{E

(iii) Find the number of people who prefer 2 types of drinks.

RKEW 2 FhEEH A E

2)(a)in the Venn diagram , shade (A N B N €)' N (A\B)

REEFESERE, B(ANBNC) n(ABUAEET

The Classroom Learning Academy



(b)There are 73 students in a classroom, given

A—TR=EE, HE 73 RFELE, EA,

31 students participate in basketball team, 31 /N[E] 25 HNERRZE

29 students participate in volleyball team,29 ~E 25 hNHEEREE

30 students participate in football team, 30 P EZ5 1 EIKA

6 students participate in basketball and volleyball, 6 24 S hNE Bk FIHEER
11 students participate in volleyball and football,11 B & MNHEKF1 E Bk

4 students participate in basketball and football, 4 @S INE Bk F1 K

3K find

(i) the number of persons participating in the three ball games at the same time

Rl 2N = TIREIE B A S

{i1) the number of persons participating in at least two ball games

SMEDHIIREEAHIAL

(C)From the diagram, givenn(é) = AUBUC,n[(AU B) N C] = 16, find
#EHR, EFAn@ =AUuBUCn[(AUB)NC] =163k

(i) X
(i) n(B'nA4)

3.(a) é={x: xis an integer, 10 < x €30}, A = {x : x is a perfect square number}, B = {x: xis a multiple of 4} .
§={x:x ZEE 10 <x<30} A= {x:x BESYEHED, B={x:xF 4 {540

i) List the elements of A, B, ANB, AUB
IH A B, ANB, AUB ITE

i) Find the value of n (A NB'), n (B\A).
K n(ANB'), n (B\A)AY{E

b) There are 1000 students in the class. Every student must participate in at least one ball game. Among of them,
683 play volley ball, 594 play badminton, 430 play tennis, 258 play volley ball and tennis, 343 play badminton and
volley ball, 253 play badminton and tennis.

¥ B 1000 254 . BA R LIRSS EE. Hh, 683 THER, 594 {]PJEFK, 430 TMFEK, 258
FTHFERAIPER, 343 TR EIRAFFER, 253 TP BIRAFEK,

i) draw a Venn Diagram to demonstrate the above information.
— MuBERER LREE.
ji)find the number of students who play all the three games.

SI=TLL RN FE NI
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iii) find the number of students who play volley ball and badminton only.
SKEMMABRIP IR L TR FE A
iv) find the number of students who play only one ball game.

KRS IN—BERFEN FE AL

4. In a form of 300 students, 400% like swimming, 500% like watching movie, 60% like reading.
20% of them like swimming and watching movie, 20% of them like swimming and reading,

30% like watching movie and reading. 10% like all these three activities.

£ 300 Z42h |, 400% E XKk, 500% B kA, 60% S WMEEE.
20% B NE R BFK I 82, Hodh 20% S Wi vk A0 el 2,
30% EMEHEAEE. 10% =ME31#EK.

(a) Draw a Venn diagram by using the number of students to represent above information.

Z—AuREXRER LRER.

(b) Find the number of students that only like one activity.
KRER—GUERNFEAK

(c) Find the number of students that only like two activities.

RERAIUEN N FE AL

(d) Find the number students that doesn't like anyone of these three activities.
RETUESNEARERNZEANE

(e) Find the number of students that like at least one activity.

KEDER—FEAE
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